PSYCHOLOGIST (IN PRISONS AND CORRECTIONAL SERVICES DEPARTMENT)
IN TAMIL NADU JAIL SERVICES - 06/08/2022

1. The number of Nephridia present in the excretory system of amphioxus is

a. 70 pairs b. 85 pairs c. 90 pairs
d. 75 pairs e. Answer not known
ablgdgenier Hhe| BHHS WWILevSSHevleTen  GBLTguwIToSeileln erewmienibend
DHSLD
a. 70 Gmmgameir b. 85 Gmmgmel c. 90 Gmmgsmeir
d. 75 Gmmgser e. alewL OHfwaledenew
2. In which animal the polytene chromosomes were discovered for the first time?
a. Fruit fly b. Drosophila c. Chironomous
d. Housefly e. Answer not known
abd 2 Wlflendhdled PpSH6l (PpHevled LmeVest GGImGorGamibset e pluiil L gi?
a. Uy Fd b. GyrBaTemLIcLT c. maBymenTLoem
d o' & e. alewL O Muialesvenev

3. When a bacterium is placed in nutrient solution if it moves positively towards the
nutrient solution and the phenomenon is said to be what?

a. Hibernation b. Cytolysis c. Chemotaxis

d. Turbidity e. Answer not known

m utdslleflub g o a6y HTudbwd Crresl  FISSLLUGL  Hlemev  sleleuTm
SIMPSBLILBIBSHI?

a. © B&HBHHN6V b. GFed @miiy c. Gudldh HeWIL6v

d. seumEIBeL HesTenio e. alenL Gafwealsvemnso

4. Why does solar energy considered as a preferred option of green energy?

a. Non renewable b. Non availability c. Renewable
d. Causes pollution e. Answer not known
G @alsd FogHemw gt allHLUILGLD USK®WL FhHWTE CxTe CFUISECBTDL?
a. Yaiiiéss Buieonsg) b. eelged dewLbETHE C. Uslisss aniguidl
d. wra o ewiTHGeas e. alewL Gafuwalsdenso

5. Anthracite is a coal
a. High quality b. Medium quality c. Low quality
d. Poor quality e. Answer not known
DUHSHTOFL 6TRILGH (T HlevdSTWMEGLD
a. 2 Wi J b. EGHSY C. &DBbS B
d. Bssd GoBHS S e. alenL Gafwealsvemnso
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6. Which one of the following is a salt of weak acid and weak base?
a. Sodium chloride b. Ammonium chloride c. Sodium acetate
d. Ammonium acetate e. Answer not known
SpsenieuBplen 6% aiflwd Gmmhs oifleod wB@Id effwbd Gmphs STy 2 Liy?
a. Ggmouib &HGenmeny(H b. oubGwreiwid &Genmmeny(h c. Gamouib oFCLL
d. guGureiwn SFLCLL e. alowL Gaflwalsdenso

7. The SI unit for energy is
a. Nm-1 b. Nsm-! c. Nm

d. Ns1m-1 e. Answer not known

SI ovE (Wenpenoullest LIy SLBBeJET SIeVE, 6l6iTer?

a. Nm-! b. Nsm-! c. Nm
d. Ns1m- e. alewL OxNwealeoenev
8. When mechanical waves have a frequency below the audible range, these are called?
a. Sonics b. Infrasonics b. Ultrasonics
d. Supersonics e. Answer not known

BuwBT SmevdeT GCasl sdamipwl augblIBGd SO  IHTOeuest GETemgmHBGHWD Gurg
BeleuTnl DINLSHSBLILIHE 1360

a. @elulwed (Bamesid) b. smewTelwed (@t Gamefd)

C. Bewmel (oeolgr Ggmenid) d. guuT Gamels (BGma &6d)

e. alewL OFfualsvemnsv

9. During January 2022 - In which country the surgeons successfully implanted a heart
from genetically modified pig. To man.
a. Germany b. Italy c. UAE
d. USA e. Answer not known
mereufl 2022-60 ipimey  FHFenFWImenTdenTed Oeumpslarons, LOJL  IBBL  GFuiwiu’ L
vauler BFUIGHmS LOTHISHSL CUTHSHHW BTG
a. Qe b. ®@%s1e0 o . M UL BIG
d. 90wiss medw BTG e. ol OxNwealsoensv

10. The Chief Minister of Tamil Nadu has announced the ‘Non-Resident World Tamils
Day’ would be celebrated on

a. January 12 b. January 7 c. March 7

d. March 12 e. Answer not known

BOPS  (PHEVDLOFFT BTDET  ‘LeulbOUWThS 2 uSHSIOT  HIeNTHS
CamewrLmLLILGD eTeiml DiplellSaHIeTenT.

a. meeufl 12 b. meeufl 7 C. onTF 7

d. i 12 e. alewL Gxflwailsdenev

11. National water mission campaign “Catch the Rain” launched in

a. 22nd February, 2021 b. 22nd March, 2021 c. 22nd April, 2021

d. 2rd May, 2021 e. Answer not known

Bxpdlwg Hewrewit SewemiwsHH e “Cal & Guie” (wewwenuwl Lig) OHTLMISLILLL  [BT6T
a. 22 \dgeufl, 2021 b. 22 g, 2021 C. 22 glyev, 2021

d. 22 Gw, 2021 e. alewL OFfwalsdensv
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12. Which of the following scheme to support minority students for preparation of main

examination who clear prelims conducted by UPSC?

a. Nai udaan b. Naya Savera c. Nai Roshini

d. USTTAD e. Answer not known

UPSC pLéaIbd (poeBemend GCaximaled Gadd GQuUDID HABILTETEND  LOTERTEUTESEM6IT

(WpHeteming BHiTeyd@ SWUMTTUBSHIUSBE LleTol(hHeUaTeuBBIeT 615 2 6iT6ment?

a. pul 2_FHTe b. pu1 FGeugm c. pu1 Gymdle

d. 2 _eaosns e. alewL OHfNwaledenew

13. The Indian Institute of space science and technology located at
a. Ahmedabad b. Pune c. Bangalore (Bengaluru)

d. Thiruvananthapuram e. Answer not known
@b aleubeual Spfiallwed BEBID GHTHMEHIL L BHBeUID SieobHEleTen L Lb

a. OIBLFHTLTS b. yGe C. QumISEH(H
d. SmeuambgLgLd e. alenL OQxNwealevenev
14. The design of the National flag was adopted by the constituent Assembly of India on
a. 20 June 1947 b. 22 July 1947 c. 21 August 1947
d. 23 November 1947 e. Answer not known
Gxpdlw Qsmguier elgeaiemOLIenL @hHW DFFuied BT FenLUITeL STl
gmmisb CsmeTemiul L.
a. 20 et 1947 b. 22 gpenev 1947 c. 21 sumedH 1947
d. 23 peubuT 1947 e. alewL Oxfwealsdensv

15. On the occasion of 12t National voters Day 2021 the Election Commission gave the

best state Award to state chief electoral officer.
a. Tamil Nadu b. Assam c. Bengal
d. New Delhi e. Answer not known
20210 oyemnged 126ug1 CHFHw eumdSmenT HerdemnHowm g LOTH60E  HEMEVENLDG
CxpTHev oiFBMNHGHF FABhae WwiHev alhmHmeand CHTH SLhager MBI
a. BTG b. ogmd C. GUBIBTGNID
d. ys Hevel e. alewL GaMuwealsvemev
16. Match the following major tribes in India with their locations.
A. Bhils 1. Odisha
B. Bodos 2. Gujarat
C. Gonds 3. Jharkand
D. Mundas 4. Assam
A B C D
a. 3 2 4 1
b. 3 1 4 2
c. 2 4 1 3
d. 2 3 4 1

e. Answer not known
SDHWIL (PSHFHW @bHUl LIpRIGIuiearem] DieuToeler Slemwaill Sl e QUTHEHHIS

A. evsei 1. QuagT
B. GunGum 2. G2UTSH
C. Gmmewim 3. QmiTeheNI
D. pewrm 4. SIErO6YOMLD
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17.

18.

19.

20.

21.

22.

NN W
Wk RPN O
N . e
R W R g

a
b.
c.
d.
e. alewL Oxfwealedensv

Highest passenger density service in the world is provided by which of the following
Indian Railway

a. Mumbai Suburban Railway

c. Delhi Suburban Railway

e. Answer not known

Weteuheuaiouppled o svdleriGev Wd DIFHs Uwemidel SILTHSH CFemeu euPmISHL EbAw
Ayuied UTemSH 615H1?

a. (wwumd UspsT SruisoBeu
c. Flevad UmbasT BuievGeu
e. alewL Oaflwealsenso

b. Kolkata Suburban Railway
c. Chennai Suburban Railway

b. QarevsdhdHT LBEST yuieoGe
d. Qseemer ypBpsT ByuisvBGeu

Which one is not a man-induced hazards?

a. Physical hazards b. Chemical Hazards
d. Planetary hazards e. Answer not known
oG SHITED HITWILLILILTH QHIHBHIHHEIT 6157

a. QueTsHs YLISBHIGHSH6IT b. @yamwent SyIGHHIGHET
c. 2 ulflwed S ISHIBH6N d. Sps USHIBD6I

e. alewL Oz flwealsbenso

c. Biological Hazards

In the total length of the Cauvery, how much percentage of length flow into Tamil
Nadu?

a.41.0% b. 46.0%

d. 51.0% e. Answer not known
QureHs smTalfl BBler HeaTsHHe0, eelauene FHaldldh Hembd SLODBTL QL © eieng)?
a.41.0% b. 46.0% c. 56.0%

d. 51.0% e. alewL OQxNwealevenev

c. 56.0%

In which year Himalayan Tsunami occurred in India?
a. 16t June 2013 b. 6th August 2013

d. 16th July 2013 e. Answer not knosn
AhHWTaled 6hd DLEwNged GIoTevul FHienmdl eBuLl L gi?
a. 16 ggeair 2013 b. 6 sumerd® 2013

d. 16 ggeemev 2013 e. alewL OHfNwaledenew

c. 26th July 2010

C. 26 ggremev 2010

As per our Indian Constitution languages comes under

a. Eighth schedule b. Seventh schedule c. Sixth schedule
d. Fifth schedule e. Answer not known
B BbFHWw DFFuieoenolifey GLomflser

a. qalLTaE S Laiewent b. gomaig S L alenewt
d. mbsTug o1 Leuement €. ol GFflwealsvensv

S UHBIBSH
C. SIBTUSHI S L 6)6n6uT

Sambavati Kalyanam has written in the language of
a. Telugu b. Tamil
d. Sanskrit e. Answer not known

c. Marathi
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gmbUTeUd SeOWT6ID 61633 [HIT60 61H% GILOMHUNed erpSHLILIL BoiTeng?
a. OFHIBIE b. s C. JTHS)
d. FwerbdmPLD e. alenL QxfNwelsoensv

23. Which country other than Indian Sub-continent has numerous Sanskrit inscriptions?
a. Afghanistan b. Bangladesh c. Pakistan

d. South-East Asian countries e. Answer not known
OhHWSH HMSEHMILLD ST 6bEH BT Ig60 FLOH(HH HeLOGUL (HH6T 2 _6iTermen?

a. SIUTeNerdTest b. uBleTTCxsad C. UT&lervgTest
d. OzeaidpssTdw HrHE6 e. alewL OFfluiaisdensv
24. Who shifted his capital from Gulbarga to Bidar in the Bahmini Kingdom?
a. Ahamad Shah I b. Bahman Shah ¢. Muhammad Shah I
d. Alauddin Mujahid Shah e. Answer not known
utel SIFfled GeounTaaTaled mbaH LLTIHoHE HmeUbHM] LTHBYIWLeUT WT?
a. (PSHEVTD DIBIOFI AT b. umoesr egr C. (IPH6VTLD (LPHLOFH! QT
d. spuTaBer welddh agr e. alewL Gafuwaledenso
25. Which pair is not correct?
a. Shahjahan Nama - Shahjahan
b. Tuzuk-i-Jahangiri - Jahangir
c. Tuzuk-i-Baburi - Babur
d. Humayun nama -Gulbadan Begum

e. Answer not known
SHeumTerr Benewt 61517

a. QQTEYSHTEN [HTLDT - QQTEQBITEIT

b. sixé-2- mamThiEi - eamrmIE

C. HIGFSH--LIYT - i

d. emeomuyest BT - &GOS BUBID

e. alewL OFMwealedensv

26. Which port on Western coast was attacked and plundered by Shivaji in 1664?
a. Goa b. Bassein c. Chaul

d. Surat e. Answer not known
1664 b e, Seurdwimed SHTEHSILULLGID OBEBID  GempwTL Ul L giorer  GomE
sLBBm) CamienL e1gl?

a. Gameur b. GuenSesr c. QFermed
d. @15 e. aleowL Gafwalsdenso
27. Which Delhi Ruler got himself free from “Khalifas”?
a. Qutb-ud-Din-Aibak b. Iltutmish c. Balban
d. Razia Begum e. Answer not known
&6V, .UTSBTLLO(HHSH HeienarhHTCa alBHalHaHb0BTewIL GILe06l SIFSFT wimT?
a. GHUIeT-2uH b. @@L 100k C. LITGOLIGH
d. @regwm Gusid e. alewL GaMuialsdemev

28. Which factor caused the end of Indus Valley. Civilization?
a. Climatic change b. Earthquake c. Flood
d. Invasion e. Answer not known
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FbgOeuel BHrafssHHer (PYalBE 61%H STTRIDTS DIDHBHHI?
a. euTeiluied LomBBLD b. Bl BESHHLD c. Geueltermid
d. uerL Gy e. alewL OQFfwalsdensv

29.33% reservation for women in parliament and State Legislature Bill was first
introduced during the tenure of which of the following Prime Ministers?
a. Deve Gowda b. Rajiv Gandhi c. ManMohan Singh
d. P.V. Narasimma Rao  e. Answer not known
UIMIT@BHLOGTBID  BmID gL FenLuled GOUENIBEhSETR 33% Ol QHISSL19BETer  CFTHT
WFHe0 (PHedev 6lhd LITHID WwhHifluler sTeudHdHled DISpaILBGHSILLL 7

a. Cxeu Omemm b. grefen smHg) C. &IGLTHeT Fml
d. W.al. Byfibo Fmel e. alewL GaMuwelevemev
30. Name the state which has established Lokayukta for the first time in India
a. Tamil Nadu b. Bihar c. Orissa
d. Rajasthan e. Answer not known
AbhFHwraled (WHe0 (WPHeled Geumd DISST DML 2 (HeUTHSIU LOTHIEVLD
a. s BIlH b. s c. giflerom
d. gregerogmest e. alewL OxNwealeoenev

31. The retirement age of High Court Judge is

a. 65 b. 67 c. 62 d. 61 e. Answer not known

o WHFHIIB BHUSHUNET guisyGUMID euULIS)

a. 65 b. 67 c. 62 d. 61 e. aleowL Gafwaledenso
32. Punchhi commission was appointed on

a. April 28, 2007 b. April 29, 2007 c. April 30, 2007

d. April 29, 2008 e. Answer not known

Uit BL0ag6T SIMDBSLILIL L FI

a. gliged 28, 2007 b. giged 29, 2007 c. gliyed 30, 2007

d. gliyed 29, 2008 e. alewL Gafualsdenso

33. Who is the Chairman of the District Rural Development agency?
a. Credit Planning officer b. Rural Industries officer
c. District Collector d. Additional Collector
e. Answer not known
wmeul L &lgmo Guburl (B (pHenouien FHeneveuT WmT?
a. L& FHL DIVIGUGVT b. eays QHTP6L FTENEVHET SIGVIGUGT
C. 'L Sy Fuif d. abse0 o fui
e. alewL OFflwealsdenev

34. The president nominates members to the Rajya Sabha
a. 10 members b. 12 members c. 11 members
d. 9 members e. Answer not known
GLWIS SHMeVT, JTaW FuUTaled 2 mInfeniTaemen BHuldlgammT
w. 10 o_minierraei 9. 12 o minierisern o . 11 o miierTsein
. 9 o minierrasel B. alewL GFHflwalstensv
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35.Name the committee that was appointed to make recommendations about

fundamental duties

a. V.K Sharma committee b. Santhanam committee

c. Swaran Singh committee d. Balwantrai Mehta committee

e. Answer not known
SlliLemL. &Lemder UBM ufbHienTss DMWEHSLILLL Glpalmer GBILULIGS

a. V.K agior @ b. gpsrend & c. gouger Fml G
d. ueveupHITUI GUHHT GH1D e. allewL  Gaflwalsvenso
36. Which term was included in the Preamble of Indian Constitution in 1976?
a. Secularism b. Socialism c. Communism
d. All of the above e. Answer not known
1976 60 @bFHw SFFlwevenoiiier (palimyuled CaTeasll L gBmpl wrgl?
a. WHFFTILITenLID b. Fwsinob C. &lbujeferoid

d. Gupsmiwu semensaid e ol Gaflwalsdenso

37. Identify the year in which National Rural Health Mission was launched

a. 2000 b. 2005 c. 2010
d. 2015 e. Answer not known
Cxpdlw Symwliyp SSTHTT Uewll CHTLMISILLL  SL601{H
a. 2000 b. 2005 c. 2010
d. 2015 e. alewL OQxfNwealedensv
38. Under Pradhan Mantri A was Yojana, Government has targeted 1 crore pucca houses
with basic amenities by 31 March, 2019 but houses completed within the
same period.
a. 1.05 crore houses b. 1.54 crore houses c. 0.95 crore houses
d. None of the above e. Answer not known

Uysw whHfl Smaeumseh aih FLSHST S ops  wirF 31, 2019-0 1 Gasmg
Cumde ollB awsd CBTHHE FH LI QHHSH M0 DBFH BHTELHHM

a. 1.05 Gamg aiBesen b. 1.54 Gamg aiBseln c. 0.95 Gamg aipsel

d. GuBampPluw egia|ieenev e. alewL QFflwaledenev

39. Major features of Tenancy Act is/are
1. Fixity of tenure

2. Fair rent

3. Right to purchase land

a.1only b. 1 and 3 only c.2and 3 only
b. 1,2and 3 e. Answer not known

GHIMBF FUL S (IPSHW SHIDFID/ SHIDFRIH6I
l. @UIUbBSH HTEVHMSH MHiTemwTulldhgHe0

2. HWTWILDTET GUTL 6D

3. Plovdmad eummhiGD o fenip

a. 1 w @G b. 1 wBmib 3 wl G C. 2 wBmIb 3 WL B
d. 1,2 wpgd 3 e. alewL OHfNwaledenew
40. Match the List I with List II and select the correct answer using the codes given
below
ListI List I
A. Fourth Finance Commission 1. AM. Khusro
B. Eighth Finance Commission 2. P.V. Rajmannar
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C. Eleventh Finance Commission 3. Y.B. Chavan
A B C

a. 2 3 1

b. 3 2 1

C. 1 3 2

d. 2 1 3

e. Answer not known
ulwed I wwmmd Il Qurmssh &6 OsrThsHsiiul (Beten gfwmer almLemuw  CxiTey

Cau1s:
uiguied I uguieo 1T
A. BrensTeaugl B&HSEH 1. .61, GerOeh
B. elLmeug m&leEGup 2. U.al. gmegLoesteotiT
C. udGamymeugl MHH&HES D 3. @uill. Feumest
A B C
a. 2 3 1
b. 3 2 1
C. 1 3 2
d 2 1 3
e. alowL G Mwalsvensv
41. The Reserve Bank of India on issued new Rs. 200 denomination banknotes
with the Mahatma Gandhi series, bearing signature of RBI Governor Dr. Urjit Patel.
a. 52.08.2016 b. 25.08.2017 c. 25.08.2018
d. 25.08.2019 e. Answer not known
@b MaTel eumsl, WSTHOT &MbhLH o (Haubd OuTdbsiulL 200 pUTL  STSHSLU
UeIHMSH YT SeuTerT LISLT. oaifedls LG meCWITIILSSHIL 65 YTz fis]
Geuerui’ L gl
a. 52.08.2016 b. 25.08.2017 c. 25.08.2018
d. 25.08.2019 e. alewL Gafuwealsvemsv
42. Match List-I with List-II and select the answer using the codes given below:
ListI List II
A. First five year plan 1. Industrialization
B. Second five year plan 2. Self-sufficiency
C. Fifth five year plan 3. Agriculture
D. Sixth five year plan 4. Removal of poverty
A B C D
a. 1 3 2 4
b. 4 3 2 1
c. 3 1 4 2
d. 4 2 1 3

e. Answer not known
ulwed I wpmd wluwed Il GuImsHE SCp CETGHSILLIYHESGSD  GBPuiBsmern
uweupsHg gfiwmer allewLemwl CaiboHBHS.

uliguied I ulguieo 1T

A. a0 WbHHTEWIH HI LD 1. QHTHeOLOWIDTHE0
B. @yewimeus bHTewip SHLLLD 2. FHeenenmey

C. mbareug |baTenih S LLb 3. Beuermeniento

D. syproug mmismenih SHiLid 4. qumemid LI

A B C D
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a 1 3 2 4
b. 4 3 2 1
c. 3 1 4 2
d. 4 2 1 3
e. alewL Oxfweailedensv
43. India ranks in terms of nominal GDP among the world economy (2016-17).
a. Fourth b. Seventh c. Fifth
d. Tenth e. Answer not known
2016-17 60 2 ev& OQuiemmaTIsdHe (GDP) @bdwr GuBpisien &L b LG ID.
a. BTG b. ereuzl C. WbDHTAISH
d. ussTaug e. alewL OQFfwalsdensv
44. Who announced in the House of commons to hand over power to the people of
India?
a. Queen Victoria b. Queen Elizabeth - II
c. Viceroy Lord Louis Mountbatten d. Prime Minister Attlee

e. Answer not known

OhFHW  HHEHHESG DFHBMMHMS QLU SH CUTHCBTD 618IB  HBeumev GUTHILSHSEI
gmLuled opflalidgeuT wimr?

a. el&@Lmflwim oamymeuo b. @yewi_mbd e16ferv6LIS OBTTTEwH

c. emaudlymul gumuferd Goemewn’ Gui L et Ly d. dgswT el

e. alewL G flwealsdenso

45. The civil disobedience movement was suspended by Gandhi to
a. Gandhi - Ambedkar pact b. Gandhi - Inwin pact
c. Gandhi - Wavell pact d. Gandhi - Mountbatten pact
e. Answer not known
UL @iy Bussd STHHWIRTD @SHmalliLsBEG STTeuoTUHbHS

S LD.
a. aMhd — UWDBUSHT QUILIHSHID b. ampd - BTelar @UUBIHLD
C. aMbg — Geueusd @UILHSHLD d. amhg — Guoermen G L6 @UILIHSLD

e. alemL OFfluiaisdensv

46. Who were popularly called as Trio?
a. Gandhi, Nehru and Patel b. Lal, Bal and pal
c. Gandhi, Nehru and Tagore d. Nehru, Tagore and Nethaji
e. Answer not known
rGwT el FBULTH DIHLPSHSLILIL L GUTHET  WITeUT?
A. ambd, Grm wBmIb LGL6D b. eomed, LIT6L LOBEID LILIT6D
c. aMhd, G WBBID HTdT d. Gp@, sTamiT BB CHHTRY
e. alewL OFflwealsdeneo

47. The provincial autonomy was the main recommendation of

a. Gandhiji b. Rajaji c. Gokhale

d. V,G T Tilak e. alenL  GaMuwalsvemev

LOTHIEL  SHeSTeuTL & 6160TLIG allet LgTen UHHBHOIULTS EHHBTH
a. B b gregred c. GarsBev

d. 1.g). Fevs e. alenL QxfNwelsvenev
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48. The depressed classes were to be given fair representation in the local bodies election

and services only by pact

a. Poona b. Bombay c. Calcutta

d. Allahabad e. Answer not known

RbSBUULL  WwéHeT OFefeuten LIFHBSHoHHuGHme o 6tenmldl  BxhiTheded GUBSIL 6D
wBpId Curg uemiuled CxHTaurdlL o HalBeaugmibd QUL SLOTHEGHLD

a. Lyeom b. wbumu C. BOBSHHT

d. spvsmus e. alewL GaMuwalsvemev

49. Who represented theosophy at the parliament religion in 1893 in Chicago?
a. Annie Besant b. Vivekananda c. Rev. Frank Besant

d. Blavatsky e. Answer not known

1893 b oewih HemBsT 2 _6vd gFow  UTITEHLSBSHH 60 Suwmsiuler UFsHBgwurs
&H6Ub& OBTewILeuT WmT?

a. ojeiafCOuFemTL b. alGousrenbHT c. Burspast Uymm QU

D. umeveurmerdd e. alewL OFflwalsvensv

50. Match the following and choose the correct answer from the codes given below.

A. Brijis Kadr 1. Faizabad
B. Kunwar Singh 2. Bihar
C. Kunwar Sahib 3. Nawab of Avadh
D. Maulavi Ahamadullah 4. Kanpur
A B C D
a. 1 2 3 4
b. 3 4 2 1
C. 4 3 2 1
d. 3 2 1 4

e. Answer not known
&8 OGarhsslul(BeTanewsd QuThSSH, Oathdasiul L  @Bluihselelmban  Fhwmer
alemLemw! CHTHEH B

A. Ufiderd sraT 1. ewugTUTS
B. mrenmm gmdl 2. s
C. @eeuni Hmi 3. 9laydH Heull
D. Guweneval 9iH105516060T 4. BT
A B C D
a. 1 2 3 4
b. 3 4 2 1
C. 4 3 2 1
d. 3 2 1 4
e. alenL Oz flwalsvemnso

51. The lives of the Sixty-three Saiva Nayanmars were narrated in

a. Nalayira Prabhandham b. Devaram c. Periyapuranam
e. Thiruvilaiyadal puranam e. Answer not known

(63) 9IBILSSF eI BTWEIOTTH6T6 auTDdHmEHmW alaufld@d HITeD

a. preoruly yubsd b. Gsmeumyid c. Qufiw yymewrd
d. Smalewenuim_6d Lymewid e. alowL OFflwaisdensv
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CHENNAI

52. war marks a turning point in the career of Karikala

a. Venni b. Magadha c. Avanti

d. Vajra e. Answer not known

sfNeBTevadHE&G HHULY (penerwmd mbshp Gumt

a. Geueiie b. wassb C. b

d. euggym e. alewL Gapfwalsdenso
53. The Second women president of the Indian National Congress was

a. Sarojini Naidu b. Annie Besant c. Parvathi Devi

d. Padmasini Ammal e. Answer not known

@haw Cxrdlw srmSFeier STemilmougdl GCU6EHT HeneveuT

a. sC@yrgdlel BTW®B b. seel GuFe C. unfreugd] GzmHal

d. ugwrdedl subomel e. alewL QFfwealsdensv

54. The Andhra Origin of the Pallavas was mentioned by

a. K.A. nilakanta Sastri b. K.P. Jayaswal

c. S. Krishnawamy lyengar d. R. Sathianathier

e. Answer not known

uevevalTHeTer SUbHTT CHTBBLD LIMBS) 60 FnBLILILL S
a. Gx.g. HovsemiL Fmerddf b. Ga.19. Gzguierbeumed

c. S. dmagewiams IBISTT d. R. ssdwprsuiwr

e. alewL Gz flwealsbenso

55. E.V. Ramaswamy passed resolutions for the welfare of the women in the self-Respect
conference at

a. Madras b. Coimbatore c. Salem

d. Chengalpet e. Answer not known

F.CGou. gmogmll swioflwrend OTHTLIQEL Cuenideflear  HeoabdTd HLBiGeT SuiBmruLl L
@L1b

a. QL gmerd b. Gasmuwips s c. Ggould

d. QFmseoLL B e. alenL Gafwealsvemnso

56. The scheme of “Padiyarisi” was in introduced

a. Rajaji b. Bakthavatsalam c. Kamaraj
d. C.N. Annadurai e. Answer not known

‘LufFASH LD’ wnT STevdhHled OBmemi(h ULl L Hi?

a. @yremred b. usseuSFeold C. BMDJTY
d. f.aer SieHeRITSHIEn] e. alewL Gxfuialsdenso

57. Justice party was formed by

a. T.M. Cuens b. P. Subbarayan c. P.5. Kumaraswami Raja
d. C. Satyamoorthy e. Answer not known
bAHE S Fenwl 2 (Heurdhaluleui
a. I9.6Tb. [BTWIT b. . atgmwest c. N.eterd. @omyamd gmegm
d. 8. ssHwepisd e. alewL GaMueisdemev
58. The proclamation of Marudu Brothers pasted on the wall.
a. Fort of Tiruchi b. Fort of Sivagangai
c. Fort of Kaliyar kovil d. Fort of Nerkkattum Seval

d. Answer not known
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59.

60.

61.

62.

63.

64.

S FCHTHITHee LFsL eod
a. m&FHs CamenL

c. amenenwnt Gamailed G eni
e. alenL Oz flwalsvenso

gaufled ULl Lg)?
b. dousmiens Gam eni
d. OpBal B OFaued Bsmeni

The third congress session held at

a. Bombay b. Madras c. Calcutta
d. Delhi e. Answer not known
STHISITendlen cpeTBTeug MHTH HeoL CuBBs &L 1D LS LD.

b. G gmerd
e. alenL OFflaisoenso

a. umbGu
d. GLeved

C. BOLBHHT

The Chola ruler directly participated in the battle of Thirupurambiam was
a. Vijayalaya Chola b. Aditya Chola c. Parantaga Chola

d. Rajendra Chola e. Answer not known

SHouypliun Curfled Crryuwine ums Gt GFmp Lo6sTeIT

a. allgguwmeows Gamipest b. oFsw Campesr C. UBMhHd GaFmpeit
d. gn8xbdy Gamipest e. alewL OxNwealeoenev

The Chinese Pilgrim Hiuen T. Sang who visited Kanchi during the reign of

a. Mahendra varman b. Narasimha varman c. Raja simha
d. Apparajithan e. Answer not known

F&l Lwiewoll UjeUTesT SeUMmhl WT[HEDLUI HTeuHIH60 SMehFlH@ eumma LfhTT?

a. WwBHHAHTeUTIDGHT b. Brdlbweuoest C. gmedlbLoest
d. engredssen e. alewL OFflweailsdensv

The leader undertook a fast death for demanding separate Andhara State was

a. Potti Sriramulu b. Potti Subharayalu c. T- Prakasam
d. Srinivasalu e. Answer not known

Sl bFH wibleod Camfl o ewemmalysd Smbah o Ul HoHHeuT

a. Qumig wfympa b. Gum’iy &ugTwWe) c. 19- Lysnad
d. vffleurgen e. alewL Gafuwealsvemnsv

SLGUITIT

During the Sangam period Kopperundevi, wife of Ariyappadai Kadandha
Nedunjelian, died the moment of he husband died it was called as

a. The marakkarpu b. Karpu c. Sati

d. The Arakarpu e. Answer not known

gHIS SHTevHHe0 oufl umL &LbS OBBEHesFHwas BBhHe 2 L6l Seugienl Ul Loeneial
CamiCumbHEHal o L enguited @BheH FLoLeSHMmS 6160 SLEMLDEFHE01T

a. 1B SHMHL b. &b c. &

d 9B sBy e. alewL Gxpfwalsdenso

The discovery of Roman coins at Arikkamedu help to confirm Indias trade contacts
with Rome issued during period

a. Copernicus b. Julius

d. Justinian e. Answer not known
AbhaHwTsEpsGh  Crromalwisas@h alwmumy OsTLTY Shhed 6am 2 pig  splw
OIM&B5GL 1960 SemtBUILNIQSHSILL L [HT6IULIBISET STeVHSHI0 GleuamuilL L L6t
a. Gamumplserd b. eg@eduierd C. OIBEVLGD

d. serdigenfluwiest e. alewL OxfNweleenew

c. Augustus
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65. was appointed as the First Woman Chair person of the state Social Welfare
Advisory Board
a. Annie Besant b. Muthulakshmi c. Govindammal
d. Sundarabal e. Answer not known
M6V Felpd Hov PBCeuTFme G(palem (PHe0 LT HemeLauTTd MU &SI L 6uiT
a. oleel GuFe b. wszi060L g1d c. Gamalbgibiomeit
d. absymbLmei e. alewL OHfNwaleenew

66. The main aims of “Nadanthai Vaazhi Cauvery” scheme is
a. Construct check Dams on Cauvery basins
b. Clean the River Cauvery
c. Pollute the river Cauvery
d. Link the river Cauvery with other rivers
e. Answer not known
“bLpsmul eumfl smalfl” e yHw SHLsHlear CrresoTang
. &ralfl Bpler augsTellsd SHHLILIMENIH6T B (HH6e0
sralfl BB HMTUIMLLIHSDH60
s1alfl QBB T&HLGSHSHIH60
sTalfl BB BB HHBHEDHL 6T N6l HIHe0
alemL  OFfuialevemnsv

®an o

67. According to the 66t round of NSS (2009-10), India among the total labour force
Tamil Nadu contributes
a. 6.74 Percent b. 7.74 Percent c. 9.74 Percent

d. 8.74 Percent e. Answer not known
(2009-10) Bxpdlw wrHfl seTHOBBULIE 66-0uzh  SPBFAUlET LY- BHHwraled OLTHS
CameomenT FHHuled SLODBMTL 96T LIMIG

a. 6. 74 Fzaisb b. 7774 szeaizb c. 9.74 szeaisbd
d. 8.74 szeisbd e. alewL OFfweailsdensv
68. 2013-14, the first in HDI attained by district, according to Tamil Nadu human
development Report.
a. Kanyakumari b. Dharmapuri c. Chennai
d. Ramanathapuram e. Answer not known

SODHTH wellgd Gubum’ (B S Leuenent 2013-14-b Siewngent U, (WHev eufleng-60 6N
Gobum’ 1960 ©_6iTer  LDTeUL LLD

a. seeiwmgLofl b. smoyf c. Ggeaiener

d. gmoprsLyb e. alenL Gafwealsoemso

69. In 2014-15, the Gender Inequality Index of the Tamil Nadu state, is the best in
District, according to Tamil Nadu Human Development report.
a. Erode b. Karur c. Nilgiris

d. Vellore e. Answer not known
SOWBTG wwelgh GubuTl B S Leement Spfldmas 2014-15 oD SLewgeT LG, SHLOWS
LOTHeVSHSHe0 LTedler Fodgiaudaeno GBUIL 1960 (PSHEIMOWTS alleThiGLD omeuL L LD

a. mGyn@® b. asemit c. [Bevdifl
d. Geugurri e. alewL OQFfwalsdensv
70. In 2018, in Tamil Nadu, “ Anti-Sterlite Struggle” of TN took place in
a. Thanjavore b. Thoothukudi c. Kanya Kumari
d. Salem e. Answer not known
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CHENNAI
2018 1b SLewTgeL, HLODHTLIQED “eroGILTemevl @ e1glgmer GumymiLb” HewL QuBB SL L1b
a. HeEhaFmeyT b. arszEHG C. sateiwmgLom
d. Gzeud e. alewL OHfNwaleenew

71. In Tamil Nadu, the man-Animal conflict are mainly due to
a. Hunting the Animals b. Crop damages by Wild Animals
c. Sound made by Animals d. Conflict between the Animals
e. Answer not known
SLODBTL 196D 06T HEISB@SLID, O(HBMIBEHHGIML B F&FFT6 B(HdHdH SHTTEIOTAIS]
a. L mpamsemen GCoul enLWmBHEHeo b. uuiirelemenggenev W (hBmIH6T BFHLBHH0
C. LO(HBMIBET FHBHD 6I(PLILISHED d. Bmensaiean B Favienl EHUILIST6D
e. alemL Oz flwailsvenso

72. The purpose of App-Kaavalan SOS is

a. To find information of people location in Emergency

b. To Count the mobility of Tigers in Forest

c. To Assess the Accidents

d. To Manage the Road Accident

e. Answer not known

“Kaavalan SOS” e1eii3 Gawielufesr Gpmeaid LG ID.
SYSHF HTURIBATE LHHeMer SHUILILSHMS HewIL 1560
AURTSHHED LeVls6Medr BLLOTHLD 6T6wTIenlbendmul  SINi5He0
alusHgisemen LS LILTBHSHD
gremev alushgisemen Gevmemientd GF 1560
alenL  OFfluiaiedensv

oo o

73. In 2019, the Index of Good Governance of Tamil Nadu is
a.4.31 b. 5.62 c.7.50
d. 6.72 e. Answer not known
2019-60 SHLODBTL 196 [H6VEY SLEHEWID HBerT GHBUTL 1965 Dl6N6y] 6T6dT6017
a.4.31 b. 5.62 c.7.50
d.6.72 e. alew OHfwaledenew

74. Tamil nadu receives Maximum rain fall from period
a. From October to December b. From January to May
c. From June to September d. August only
e. Answer not known
SLODBTL 1960 SHIFHSLOTET ewp GUTHe] GUHD STevld
a. 9BCLMUMeOmbBE 19aFbUT 6ueny b. mereufluledmbal G eueny
C. 206i1-60 @B OFLILDUT 6UeD] e. oHeB TS 1oL BLD
e. alewL OFMwealsdensv

75. The eligible person for Tamil Nadu State Government distributed cow at free of cost
is
a. The poorest of the poor women headed households
b. The landless Agricultural farmers
c. The landless Agricultural wage workers
d. The poorest of the poor men headed households
e. Answer not known
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C
SIS IS aUPRIGLD alemevuisoeor Smenal LOTH CUB HEGHWTeTeuTHeT WTT?
a. apienwuiled eumienwwTer GOBWUSH SHmevalwins o 6iten CILIEIH6IT
b. Bleowms afeugmulsei
C. Meoomm elleusFTul w66l
d. aupe»UIeID QIBIEHOWITET &HBIDLSHSHMEVMITS 2616  OLewIBH6IT
e. alewL Oxfweailedensv

76. If 1+2+43+.. .+ k =55 then the value of 13+23+33+.. .+ k3

a. 3025 b. 3125 c. 166375
d. 171875 e. Answer not known
1+2+3+...+ k=55 aiefled 13+23+33+...+ k3 a1 g
a. 3025 b. 3125 c. 166375
d. 171875 e. alenL OQxNwealeoenev
77. The 16 term and 26 term of an A.P. are 65 and 105 respectively then the sum of first
36 terms is
a. 2000 b. 2500 c. 2600
d. 2700 e. Answer not known
QM uf. & 16 LBmIb 266Uk o mIseT (WeBGW 65, 105 eeiled (WHeo 36 o mIli|Heres
Fa(HH6L
a. 2000 b. 2500 c. 2600
d. 2700 e. alowL GFflwelsvensv
78. What should come in the place of question mark in the series 20, 21, 25, 34, 50, ?, 111
a.75 b. 70 c. 65 d. 60 e. Answer not known
20, 21, 25, 34, 50, ?, 111 eeip O euflewauled GCaeald@mlbE LH6e0TE — 6l6iet
auyGeuewT(HLd?
a.75 b. 70 c. 65 d. 60 e. alowL Gafwalsdenso
79. Two dice are rolled once. What is the probability of getting a multiple of 3 in the first
die
a. 1 b. o C. 1 d. 2 e. Answer not known
3 2 6 9

gImer @h USMLB6T @H (B 2 (HLLUGHDBSH 6160 (PHe0 LisenL ulle 36 LOL MG
oT6W1  HeWLLILISBET HHDHHE| WITgH?

a. 1 b. 1 C. 1 d. 2 e. alew OFfwaledenew
3 2 6 9
80. Find the next term of series B, C, E, G,
a.l b.] . K d.H e. Answer not known
Uesteupd QT Teuflenauled SibHa aumeug eaiien? B, C, E, G, .
a.l b.] K d. H e. aleowL Oz fwalsbensv

81. A and B together can do a piece of work in 12 days. While B alone can finish it in 30
days. Find the number of days that A alone can finish the work.
a. 15 days b. 18 days c. 20 days
d. 25 days e. Answer not known
A oppid B @menbg 12 prisefllsd @ Gouemevenwt Gauidsipent. B ol Gb sHelwns
30 BT selled SbdH Calemevenl (LPI9dHdH (Wigujld eieiled A WL B HRTWTE DieIGaImevemUI
WPI9&5E LSID BT BT SHT6IIH
a. 15 mrsei b. 18 BT el c. 20 B &eir
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d. 25 ®rsei e. alewL OHfNwaleenew

82.6 women or 8 men can construct a room in 86 days. How long will it take for 7
women and 5 men to do the same type of room?
a. 35 days b. 48 days c. 30 days

d. 40 days e. Answer not known

6 OueNTH6T SleLeVH 8 T DMBEOW 86 BT &6Med &L Ig (RLILIT. DiFH CUTSIB Sienmen
7 QU6 BBID 5 HEWIH6T LI (PQHS 615HHEM6T [BTETH6T HLEGHLD?

a. 35 prl&el b. 48 mBT el C. 30 BT a6l

d. 40 B sei e. alewL GaMuwalsvemev

83. The curved surface area of a hemisphere is how much times the square of its radius

a.3n b.4n c.m d.2n e. Answer not known
SImTHCHTENHIHG eUMETUTLIL] DIHeT UTSHH UTHEHIHBEG 615HSHMEN LOL MG ?
a.3n b.4n c. T d2n= e. alewL OQFNwelsvenev

84. How many frustums can a right circular cone have?
a. infinitely b.3 c.2 d.1 e. Answer not known
Q@ GhTeulLd nlDLIed THHEN6T EeNL HEHEMILMIBET 2 _6iT6men !
a. eT6wTemT6VL RIS b.3 c.2 d.1 e. alenL QxfNweaisoensv

85. If the circumference of the base of a conical wooden piece is 484 cm then find its
volume when its height is 105 cm
a. 652910 cm3 b. 652190 cm?3 c. 59290 cm?

d. 59920 cm3 e. Answer not known
484 Q&8 SI9F GFmmenayeen @hH WISl o wgh 105 0F.16 eleiled, gnlblle Heor
DI6NEN6UDH  SHITCI0Ib.

a. 652910 Q.15 b. 652190 G515’ c. 59290 Gz.15°
d. 59920 Gg.15’ e. alewL  Oxfwalsdenew
86. Total surface area of a hemisphere is how much times its curved surface area
a.2 b.3 c. g d. % e. Answer not known
QH SmIHCaTeNHHe OoTHdH LUBUJLIL DiHeT euenemLTLILIer 61&HHemed oL HiG,?
a.2 b.3 c. g d. % e. alewL OFNwealsoenev

87. If the perimeter of an equilateral triangle is 30 cm then the area is

a. 10 \/§Cm2 b.12 \/§ cm? c. 15 \/§ cm?
d. 25 \/5 cm? e. Answer not known
QH FoUSS (PHCasTaidHHer FBmene] 30 GF.L5 eleled SiFHeim LIFLIL
a. 10 \/55.@&.@ b. 12 \/55.@5.@ c. 15 \/§&.@&.L§
d. 25 3 5.05.8 e. aleowL Gafwealsdenso
88. Find the compound interest on Rs. 31,250 at 1 6% per annum compounded
Quarterly for 9 months
a. Rs. 3,500 b. Rs. 3,902 c. Rs. 4,000
d. Rs. 4,200 e. Answer not known
5.31-250-6@& uWIBHG 16% 6B aiHHHed 9 OTH HTETERIQET Fnl B 6ULLY BTEUIH.
a. ep.3,500 b. ep. 3,902 C. (5.4,000
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d. e5.4,200 e. alewL OHfNwaleenew

89. Find Simple Interest on Rs. 68, 000 at 16% % per annum for 9 months

a. Rs. 8,500 b. Rs. 7,500 c. Rs. 6,500
d. Rs. 8,000 e. Answer not known

2
. 68,0006& 9 IHESET6 aul'ly &iHD 165 Yaipbd b SNl ly erebre?

a. g5 8,500 b. .7,500 C. 5.6,500
d. . 8,000 e. alenL  GaMuwalevemnev

90. If 2x : y =8:5, find (3x +3y) : (4x - 2y)

a.6:2 b.2:6 c.9:2
d.2:9 e. Answer not known
2x 1y =8:5, eiefled (3x +3y) : (4x - 2y) &1 wHy wrgy?
a.6:2 b.2:6 c.9:2
d.2:9 e. alewL OxNwealeoenev
91. If two numbers are in the ratio 3 : 4 and its product is 432 then the largest number is
a. 15 b. 20 c.24
d. 30 e. Answer not known
Om eremiseiar alFHD 3:4 WHBDID Siweuseiear OLHobBMBLeVET 432 elelled G  6rewr
azl?
a. 15 b. 20 c.24
d. 30 e. alowL Oxflwaledenso

92. The scale of a map is given as 1: 30000000.Two cities are 4 cm apart on the map. Find
the actual distance between them
a. 120 km b. 1,200 km c. 12,000 km
d. 520 km e. Answer not known
QU  UMIULSHH  Sene]  1:30000000 e UPERISILGSBEH.  aUDTULSHO B
BEIBBEHESH BB o sen  OHTeweve] 4 OF.L5 eefled 2o eabienulsd  Sieialh
BBIHIBEHESH LB o 6o CHTENeVEME  HT6uT

a. 120 &b b. 1,200 &.6 c. 12,000 &8
d. 520 &.6 e. alew OHfwaledenew
93. The product of two numbers is 1320 and their H.C.F. is 6. Then the L.C.M. of the
numbers
a. 220 b. 1314 c. 1326 d. 7920 e. Answer not known
Om erewisefler GQUHBSMBLGVE 1320, 15.0UT.6u. 6 6lafled L5.8.0
a. 220 b. 1314 c. 1326 d. 7920 e. alenL QxfNweilsvenev
94. The greatest number consisting of 6 digits which is exactly divisible by 24, 15, 36 is
a. 999700 b. 999720 . 999780
d. 999999 e. Answer not known
24, 15 wBmId 36 S0 UGUGBLD 6 Devds WSIEUMw  eremr
a. 999700 b. 999720 . 999780
d. 999999 e. alewL Oxfwaledenew

95. When a number is decreased by 25% it becomes 120, find the number
a. 160 b. 120 c. 180 d. 150 e. Answer not known
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QUH  eTewremiedl DAL 25¢p  GHMBHITeL 120 HewLSFMH  61adlled DIbhGH  6T6NIen6w0IH

SITCITD
a. 160 b. 120 c. 180 d. 150 e. alewL OHfNwaledenew
96. The single discount which is equivalent to two successive discount of 20% and 25% is
a. 40% b. 5% c.45% d. 22.5% e. Answer not known
Brewih QFHTLT  HeimepLgdemmen 20% wBBID 25% oLPWuBPBE FOWTET  HeiTEHLIY
FHATHLD
a. 40% b. 5% c. 45% d. 22.5% e. alewL Oafwalsveney
a \(a+b) p \ (b+c) ¢ \(c+c)
m m m 1
97. Simplify : x| — X x —
1
a. — b. m c.1 d. m@®9 e Answer not known
m
. [ ma ](a+b) ( mb j(b+c) [ mc j(C+C) 1
FHEBSHD - - x| — x| — X —
m m m m
1 (a+b+c) .
a. — b. m c.1 d. m e. alewL OQxNwelsvenev
m

98. The income of a person is increased by 10% and then decreased by 10%. Find the
change in his income.
a. Increased 1% b. Reduced 1% c. No Change
d. Increased 10% e. Answer not known
omauflar  eumwrend  10% oPsfsdpa, ey 10% GopdBgs  daied  Deuys
QU(HLOTETSH 60T 6T63T60  LOTHBMBLD [BlHUPLD?
a. 1% ogHaflo@d b. 1% @empwjb C. 6lb& LOTBBUPLIELEMNEV
d. 10% oFsfsabd e. alewL Gafuwealsdemso

99. A shopkeeper purchased 200 bulbs for Rs. 10 each. However 5 bulbs were fused and
had to be thrown a way. The remaining were sold at Rs. 12 each. Find the gain or

loss%
a. Loss 14.53% b. Profit 15. 43% c. Profit 17%
d. Loss 18% e. Answer not known

QH SWLSBMIT elbeuTamid h.10 6l 200 LIGOLHEN6N UTRISIGITT. SleuBplled 5 LI6OLISH6IT
ulpa eaaim  sewiLwiul (G, SHTéES il L gl  BHdw  elbeureipid  op. 126G
alBmTey, SleuT GUBB VL DILEVH!I HOIL FHHHMHDH HTEIH

a. majL b 14.53% b. ®eomuid 15.43% c. &evmb 17%
d. pegL 18% e. alenL QxfNwelsdensv
100. Ifa=3l,b=5§,c=4§,d=4§thena—b=?
2 4 5 8 cd
a.0 b.1 C. % d.2 e. Answer not known

1 3 3 3 ab
3=,b=5—,c=4—,d =4—aefle0 — WA wrz?
2" 4" s 8 cq B LTS

a.0 b.1 C. % d.2 e. alenL QxfNwelsdenev
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